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The correction

Reading comprehension:

i-
_—

Yes, there is only one.
True or false

a- False. The winter used to be cold

b- False. They used to live in igloos in winter and in houses
in small towns.

c- True

A - Today many of the Eskimos live in houses in small towns

B- because they used to cook inside so sometimes it got too

hot.

C- their means of transport nowadays are snowmobiles not

No, they didn't.

A- Synonyms:

Named-= called, difficult = hard

b- Antonyms:
a lot 2 a little , cold 2 hot.

Mastery of language:

1-  The homophone of: two ——= too
2-  The homonym of “mean”
e.g= What does this word mean?
This person is very mean.
3-
a- Used to live - live
b- are visiting
4- The table:
Adj Comparative Superlative
i more interesting The most interesting
Good / The best
/ Hotter than The hottest
Happy Happier than /
5-  A-who, b- whose ¢c- which d- whom e- who

Choose the correct form of the verb

1i-

2~

3-

A: Why are you working so hard these days?

B: Because THbty/ I am going to buy a car.

A: She hasn't got a CD player.

B: ok; I'll buy/ I'm going to buy her one.

A: I have an appointment with the bank manager this

morning.

B: wivEwiSyoe—=ee/ are you going to see him?
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